TURBO
STEAM

Skid Bill of Materials 02-Jan-07

06177 - UNIVERSITY OF SOUTH CAROLINA

Qty. Part No Mfg Name Description
1 9770K44 VALVE, CHECK, 3/4" NPT, CLASS 125, 2 15/16"

OVERALL LENGTH, BRONZE, METAL TO METAL
SEAT, 406F MAX, 143 CV

1 9770K44 VALVE, CHECK, 3/4" NPT, CLASS 125,2 15/16"
OVERALL LENGTH, BRONZE, METAL TO METAL
SEAT, 406F MAX, 14.3 CV

3 86495777 SIPHON, 1/4" NPT, 180 DEGREE, SCH 80, CARBON
STEEL
1 18311-0-182210170 ABB TRANSDUCER, I'P (CURRENT TO PNEUMATIC),

NEMA 44X, 4-20 MA INPUT, 3-15 PSIG OUTPUT

1 70085-1010-004 AI-TEK SENSOR, PASSIVE SPEED, 5/8-18 UNF-2A X 1.125"
THREAD W/ LOCKNUT, 1/2" NPT W/ 10' LEADS, 4.3
V(P-P) @ 600 IN/SEC, 130 OHMS MAX, 32-46 MH,
RED LEAD POSITIVE

1 70085-1010-004 SENSOR, PASSIVE SPEED, 5/8-18 UNF-2A X 1.125"
THREAD W/ LOCKNUT, 12" NPT W/ 10' LEADS, 4.3
V(P-P) @ 600 IN/SEC, 130 OHMS MAX, 32-46 MH,

RED LEAD POSITIVE

1 W43-12-12U ANCHOR FLANGE FLANGE, 3/4" SAE 4 BOLT, 3/4" NPTF, CODE 61,
WITH MOUNTING HARDWARE

1 W43-24-24U FLANGE, 1 1/2" SAE 4 BOLT, 1 1/2" NPTF, CODE 61,
WITH HARDWARE

1 W43-20-20U FLANGE, 1 1/4" SAE 4 BOLT, 1 1/4" NPTF, CODE 61,
WITH MOUNTING HARDWARE

1 W43-12-12U FLANGE, 3/4" SAE 4 BOLT, 3/4" NPTF, CODE 61,
WITH MOUNTING HARDWARE

1 WA43-24-24U FLANGE, 1 1/2" SAE 4 BOLT, 1 1/2" NPTF, CODE 61,
WITH HARDWARE

1 W43-20-20U FLANGE, 1 1/4" SAE 4 BOLT, 1 1/4" NPTF, CODE 61,
WITH MOUNTING HARDWARE

1 8321G1-24VDC ASCO VALVE, SOLENOID, 3 WAY, 24V DC, 1/4" NPT,

NORMALLY CLOSED, 9/32" PRESSURE ORIFICE,
11/32" EXHAUST ORIFICE

Page 1



Skid Bill of Materials

»

02-Jan-07

06177 - UNIVERSITY OF SOUTH CAROLINA

Part No
8321G1-24VDC

K17M0242C1750

K17M0242C1200

CM3539

CM3546

47345K34

8-T-8F-600-750F

06177-TURB

MQ1-1/8X1/2-1-2-DR-V

VJ-4R/HS/WS

VJ-4R/HS/WS

Mfg Name
ASCO

ASHCROFT

BALDOR

CASH

CIRCLE S

COPPUS

FABCO-AIR INC.

FULFLO

Description

VALVE, SOLENOID, 3 WAY, 24V DC, 1/4" NPT,
NORMALLY CLOSED, 9/32" PRESSURE ORIFICE,
11/32" EXHAUST ORIFICE

TRANSMITTER, PRESSURE, 1.0% ACCURACY, 1/4
NPT-M, 4-20 MA, 1/2" NPT-M W/ 36" LEADS, 0-750
PSIG RANGE

TRANSMITTER, PRESSURE, 1.0% ACCURACY, 1/4
NPT-M, 4-20 MA, 1/2" NPT-M W/ 36" LEADS, 0-200
PSIG RANGE

MOTOR, THREE PHASE, C-FACE, TEFC, W/ BASE, .5
HP, 1140 RPM, NEMA 56C FRAME, 230/480V AC
USABLE AT 208V, TYPE 3418M, 11.35 "C"
DIMENSION, 1.2 FLA, 24 LBS, 72.0% FLE

MOTOR, THREE PHASE, C-FACE, TEFC, W/ BASE, 1
HP, 1760 RPM, NEMA 56TC FRAME, 208-230/480V
AC, TYPE 3426M, 12.00 "C" DIMENSION, 1.7 FLA, 31
LBS, 78.5% FLE

VALVE, PRESSURE REGULATING, 3/4" NPT
FEMALE CONNECTIONS, PHOSPHOR BRONZE
DIAPHRAGM, PTFE SEAT, 250 PSIG MAX INLET,
400F MAX, 5 1/8" OVERALL LENGTH

SEPARATOR, STEAM, 8", T STYLE, CARBON
STEEL, 8" 900 ANSI RF FLANGES, ASME CODE
STAMP, RATED @ 615 PSIA 750F

TURBINE, STEAM, RLHA24, 612 PSIA 740F DESIGN
750F MAX INLET, 130 DESIGN 165 MAX PSIA
EXHAUST, 60000 #HR, 5477 RPM, 1590 KW RATED,
10" 300# RF RIGHT EXHAUST FACING STEAM END,
CCW ROTATION FACING STEAM END, 202
CONSTRUCTION, 6" 600# RF COMBINATION VALVE

CYLINDER, PNEUMATIC, MQ (SIDE TAP), 1 1/8"
DIAMETER BORE, 1/2" STROKE, 1 EXTENSION
STAGE, 2 RETRACTION STAGES

VALVE, RELIEF, CAST IRON, 3/4" NPTF, BUNA O-
RING, HARDENED STEEL PISTON, WS SPRING, 30-
100 PSIG RANGE

VALVE, RELIEF, CAST IRON, 3/4" NPTF, BUNA O-
RING, HARDENED STEEL PISTON, WS SPRING, 30-
100 PSIG RANGE

Page 2



Skid Bill of Materials

A

Q

ty.

1

Part No
LPC100L-5B-3

LPC100L-5B-3

A-12P10

A-12P10

A-12P10

A-12P10

A-1210SC

A-363612LP

A-36P36

A-1210SC

4206K25

4206K25

00075614

00075614

Mfg Name
GEARTEK

HOFFMAN

JOHN ERNST

KEROTEST

02-Jan-07

06177 - UNIVERSITY OF SOUTH CAROLINA

Description

PUMP, GEAR, SIZE C100, LOW PRESSURE, .0085
GALLONS/REVOLUTION, COUNTERCLOCKWISE,
7/8" STRAIGHT SHAFT 1/4"SQ X 1 3/4" KEY, SAE
2X4 BOLT 'B' FLANGE, 1 1/4" SAE 4-BOLT INLET,
3/4" SAE 4-BOLT OUTLET

PUMP, GEAR, SIZE C100, LOW PRESSURE, .0085
GALLONS/REVOLUTION, COUNTERCLOCKWISE,
7/8" STRAIGHT SHAFT 1/4"SQ X 1 3/4" KEY, SAE
2X4 BOLT 'B' FLANGE, 1 1/4" SAE 4-BOLT INLET,
3/4" SAE 4-BOLT OUTLET

PANEL, 10.75" X 8.88", 14 GAUGE, FOR "A" STYLE
12" X 10" BOX, WHITE

PANEL, 10.75" X 8.88", 14 GAUGE, FOR "A" STYLE
12" X 10" BOX, WHITE

PANEL, 10.75" X 8.88", 14 GAUGE, FOR "A" STYLE
12" X 10" BOX, WHITE

PANEL, 10.75" X 8.88", 14 GAUGE, FOR "A" STYLE
12" X 10" BOX, WHITE

BOX, SCREW COVER, 12" X 10" X 5", 14 GAUGE,
EXTERNAL MOUNTING FEET, GRAY, 10-32 PANEL
HARDWARE, NEMA TYPE 12 & 13

ENCLOSURE, SINGLE DOOR, WALL MOUNT, 36" X
36" X 12", 14 GAUGE, GRAY, 3/8"-16 PANEL
HARDWARE, STAINLESS STEEL DOOR CLAMPS,
NEMA TYPE 12 & 13

PANEL, 33" X 33", 14 GAUGE, FOR "A" STYLE 36" X
36" BOX, WHITE

BOX, SCREW COVER, 12" X 10" X 5", 14 GAUGE,
EXTERNAL MOUNTING FEET, GRAY, 10-32 PANEL
HARDWARE, NEMA TYPE 12 & 13

INDICATOR, SIGHT FLOW, MODEL 137P, 1" NPT
FEMALE, PLAIN, BRASS, 125 PSIG MAX, 200F MAX,
4.375" END TO END

INDICATOR, SIGHT FLOW, MODEL 137P, 1" NPT
FEMALE, PLAIN, BRASS, 125 PSIG MAX, 200F MAX,
4.375" END TO END

VALVE, NEEDLE, 1/4", HARD SEAT, 800F, 10,000
PSIG, MALE X FEMALE, STRAIGHT, ALLOY STEEL

VALVE, NEEDLE, 1/4", HARD SEAT, 800F, 10,000
PSIG, MALE X FEMALE, STRAIGHT, ALLOY STEEL

Page 3



—~—

Skid Bill of Materials

02-Jan-07

06177 - UNIVERSITY OF SOUTH CAROLINA

Qty. Part No

1

06177-BAL

06177-CPG-LS
06177-CPG-HS

06177-GEAR

M170U9

M056502B

M10002808
M10002006
INCOMING FREIGHT

06177-GEN

MARATHON EXTENDE

49355K95

S854PD120236

S854PD120Z36

$854PD120Z236

S854PD 120236

S854PD 120236

Mfg Name
LINDSKOG BALANCING

LOVEIOY

LUFKIN

MAGNALOY

MARATHON

MILWAUKEE VALVE

MINCO

Description
COUPLING BALANCING, BALANCE COUPLING
HUBS AND ASSEMBLY, USING EXISTING ARBOR

COUPLING, F4.0 GEAR
COUPLING, DI 202-6 DISC W/ 7.31" SPACER

REDUCER, HELICAL GEAR, N1200C, 1700 KW @1.4
SF, 5477 RPM TO 1800 RPM, SPLIT SLEEVE
BABBITT LINED BEARINGS HS & LS, 11 GPM OIL
REQUIREMENT @ 25 PSIG, 18.8 KW LOSS

INSERT, M100 COUPLING, URETHANE

MOUNT, PUMP/MOTOR, HORIZONTAL, 56C-184C
MOTOR, SAE B PUMP, 5.00" LENGTH

HUB, M100 COUPLING, 7/8" BORE X 1/4"SQ KEY
HUB, M100 COUPLING, 5/8" BORE X 3/16"SQ KEY
INCOMING FREIGHT ESTIMATE

GENERATOR, SYNCHRONOUS, 743RDL4052, 1470
KW, 1837.5 KVA @ .8 PF, 105 OVER 40C TEMP RISE
NAMEPLATE RATING, 480V, 3 PH, 1800 RPM, 60 HZ,
CLASS F INSULATION, 1600 KW, 2000 KVA @ .8 PF,
105 OVER 40C TEMP RISE DESIGN RATING, 2
BEARINGS

EXTENDED WARRATY, 18 MONTHS FROM
STARTUP OR 24 MONTHS FROM SHIPMENT

VALVE, BALL, 1" NPT, MEDIUM PRESSURE,
CARBON STEEL, LOCKABLE HANDLE

PROBE, RTD, TIP SENSITIVE, 3/16" DIAMETER, 100
OHM PLATINUM, +/-.1% AT 0 C, .00385 TCR

PROBE, RTD, TIP SENSITIVE, 3/16" DIAMETER, 100
OHM PLATINUM, +/-.1% AT 0 C, .00385 TCR

PROBE, RTD, TIP SENSITIVE, 3/16" DIAMETER, 100
OHM PLATINUM, +/-.1% AT 0 C, .00385 TCR

PROBE, RTD, TIP SENSITIVE, 3/16" DIAMETER, 100
OHM PLATINUM, +/-.1% AT 0 C, .00385 TCR

PROBE, RTD, TIP SENSITIVE, 3/16" DIAMETER, 100
OHM PLATINUM, +/-.1% AT 0 C, .00385 TCR

Page 4



Skid Bill of Materials

Part No

02-Jan-07

06177 - UNIVERSITY OF SOUTH CAROLINA

Mfg Name

FG214 MINCO

S854PD120236

FG214

FG214

FG214

FG214

FG214

S854PD120236

FG214

40945K81

NAW2000-N02G-1C SMC

AW20 N02G-CZ

ORANGE RESEARCH INC.

Description

HOLDER, RTD, SPRING LOADED, TWIST KNOB,
3/16" PROBE DIAMETER, 1/2-14 NPT PROCESS
THREAD, 1/2-14 NPT "CH" THREAD, O-RING SEAL,
300 SERIES STAINLESS STEEL, 2.6" LENGTH

PROBE, RTD, TIP SENSITIVE, 3/16" DIAMETER, 100
OHM PLATINUM, +/-.1% AT 0 C, .00385 TCR

HOLDER, RTD, SPRING LOADED, TWIST KNOB,
3/16" PROBE DIAMETER, 1/2-14 NPT PROCESS
THREAD, 1/2-14 NPT "CH" THREAD, O-RING SEAL,
300 SERIES STAINLESS STEEL, 2.6" LENGTH

HOLDER, RTD, SPRING LOADED, TWIST KNOB,
3/16" PROBE DIAMETER, 1/2-14 NPT PROCESS
THREAD, 1/2-14 NPT "CH" THREAD, O-RING SEAL,
300 SERIES STAINLESS STEEL, 2.6" LENGTH

HOLDER, RTD, SPRING LOADED, TWIST KNOB,
3/16" PROBE DIAMETER, 1/2-14 NPT PROCESS
THREAD, 1/2-14 NPT "CH" THREAD, O-RING SEAL,
300 SERIES STAINLESS STEEL, 2.6" LENGTH

HOLDER, RTD, SPRING LOADED, TWIST KNOB,
3/16" PROBE DIAMETER, 1/2-14 NPT PROCESS
THREAD, 1/2-14 NPT "CH" THREAD, O-RING SEAL,
300 SERIES STAINLESS STEEL, 2.6" LENGTH

HOLDER, RTD, SPRING LOADED, TWIST KNOB,
3/16" PROBE DIAMETER, 1/2-14 NPT PROCESS
THREAD, 1/2-14 NPT "CH" THREAD, O-RING SEAL,
300 SERIES STAINLESS STEEL, 2.6" LENGTH

PROBE, RTD, TIP SENSITIVE, 3/16" DIAMETER, 100
OHM PLATINUM, +/-.1% AT 0 C, .00385 TCR

HOLDER, RTD, SPRING LOADED, TWIST KNOB,
3/16" PROBE DIAMETER, 1/2-14 NPT PROCESS
THREAD, 1/2-14 NPT "CH" THREAD, O-RING SEAL,
300 SERIES STAINLESS STEEL, 2.6" LENGTH

SWITCH, PRESSURE DIFFERENTIAL, W/ DIAL
GAUGE, 3-15 PSID SETPOINT RANGE, BRASS, 1/4"
NPT FEMALE CONNECTIONS, 2% ACCURACY, 2%
REPEATABILITY, NEMA 4 ENCLOSURE, SPDT, 150F
ABIENT MAX, 5000 PSIG MAX

REGULATOR, W/ 5 MICRON FILTER, AIR, 0-30 PSIG
RANGE

REGULATOR, W/ 5 MICRON FILTER, AIR, 0-160
PSIG RANGE

Page 5



Skid Bill of Materials 02-Jan-07

06177 - UNIVERSITY OF SOUTH CAROLINA

—

Qty. Part No Mfg Name Description
1 AW20 N02G-CZ SMC REGULATOR, W/ 5 MICRON FILTER, AIR, 0-160
PSIG RANGE
1 9007C62ED SQUARE D SWITCH, LIMIT, STANDARD BOX PLUG-IN, 2 N.O.

& 2 N.C. CONTACTS, TOP PUSH ROD PLUNGER
ADJUSTABLE, SPRING RETURN, CLASS 9007, TYPE
C,NEMA & UL TYPE 6P

1 AO-40-2 THERMAL TRANSFER COOLER, AIR TO OIL, SIZE 40, 2 PASS, 5450 CFM, 78
DBA @ 7 FT, 1/2 HP, 1140 RPM, NEMA 56C MOTOR
MOUNT, 300 PSIG MAX, 400F MAX

1 3957K261 THERMOCOUPLE THERMOWELL, STRAIGHT SHANK, .385" BORE
DIAMETER, 3/4" NPT MALE, 4" BORE DEPTH, 2 1/2"
INSERTION LENGTH, 3/4" LAG LENGTH, BRASS,
1/2" NPT FEMALE PORT

1 3957K11 THERMOWELL, STRAIGHT SHANK, .260" BORE
DIAMETER, 3/4" NPT MALE, 4" BORE DEPTH, 2 1/2"
INSERTION LENGTH, 3/4" LAG LENGTH, BRASS,
172" NPT FEMALE PORT

1 3957K11 THERMOWELL, STRAIGHT SHANK, .260" BORE
DIAMETER, 3/4" NPT MALE, 4" BORE DEPTH, 2 1/2"
INSERTION LENGTH, 3/4" LAG LENGTH, BRASS,
1/2" NPT FEMALE PORT

1 5406-20-16 TOMPKINS ADAPTER, 1 1/4" NPTF MALE TO 1" NPTF FEMALE,
STEEL, 1150 PSIG

1 5406-24-20 ADAPTER, 1 1/2" NPTF MALE TO 1 1/4" NPTF
FEMALE, STEEL, 1000 PSIG

1 5406-24-20 ADAPTER, 1 1/2" NPTF MALE TO 1 1/4" NPTF
FEMALE, STEEL, 1000 PSIG

1 5406-20-12 ADAPTER, 1 1/4" NPTF MALE TO 3/4" NPTF
FEMALE, STEEL, 1150 PSIG

1 SS1MMO01X12 UNAFLEX HOSE, FLEXIBLE, 1" X 12" FF, STYLE SS-1, 321
STAINLESS HOSE, 304 STAINLESS OVERBRAID,
CARBON STEEL MALE NPT BOTH ENDS,
12"OVERALL LENGTH

1  SS1MMO01X12 HOSE, FLEXIBLE, 1" X 12" FF, STYLE SS-1, 321
STAINLESS HOSE, 304 STAINLESS OVERBRAID,
CARBON STEEL MALE NPT BOTH ENDS,
12"OVERALL LENGTH

1 SS1FF04X5 HOSE, FLEXIBLE, 4" X 5" FF, STYLE SS-1, 321
STAINLESS HOSE, 304 STAINLESS OVERBRAID,
— CARBON STEEL 150# FLANGES BOTH ENDS, 5"
OVERALL LENGTH

Page 6



Bill of Materials

Skid

Mfr

ABB

AI-TEK

Anchor Flange
Anchor Flange
Anchor Flange
Asco

Ashcroft
Ashcroft

Baldor

Baldor

Cash

Circle S

Coppus

Fabco-Air Inc.
Fulflo
Fulflo

Geartek

Geartek

Hoffman

Hoffman
Hoffman
Hoffman

Hoffman

John Ernst

John Ernst

PartNo
9770K44

9770K44
86495777

18311-0-1822101
70

70085-1010-004

LEAD POSITIVE
W43-24-24U
W43-20-20U
W43-12-12U
8321G1-24VDC

K17M0242C1750
K17M0242C1200

CM3539

CM3546

47345K34

8-T-8F-600-750F

06177-TURB

MQ1-1/8X1/2-1-2-
DR-V
VJ-4R/HS/WS
VJ-4R/HS/WS

LPC100L-5B-3

LPC100L-5B-3

A-363612LP

A-36P36

A-1210SC

A-1210SC

A-12P10
4206K25

4206K25

University of South Carolina

06177 Friday, October 06, 2006

Description

VALVE, CHECK, 3/4" NPT, CLASS 125, 2 15/16" OVERALL LENGTH, BRONZE,
METAL TO METAL SEAT, 406F MAX, 14.3 Cv

VALVE, CHECK, 3/4" NPT, CLASS 125, 2 15/16" OVERALL LENGTH, BRONZE,
METAL TO METAL SEAT, 406F MAX, 14.3 Cv

Siphon, 1/4" NPT, 180 Degree, SCH 80, Carbon Steel

TRANSDUCER, I/P (CURRENT TO PNEUMATIC), NEMA 4 4X, 4-20 mA INPUT,
3-15 PSIG OUTPUT

SENSOR, PASSIVE SPEED, 5/8-18 UNF-2A X 1.125" THREAD W/ LOCKNUT, 1/2"
NPT W/ 10" LEADS, 4.3 V(P-P) @ 600 IN/SEC, 130 OHMS MAX, 32-46 Mh, RED

FLANGE, 1 1/2" SAE 4 BOLT, 1 1/2" NPTF, CODE 61, WITH HARDWARE
FLANGE, 1 1/4" SAE 4 BOLT, 1 1/4" NPTF, CODE 61, WITH MOUNTING
FLANGE, 3/4" SAE 4 BOLT, 3/4" NPTF, CODE 61, WITH MOUNTING HARDWARE

VALVE, SOLENOID, 3 WAY, 24V DC, 1/4" NPT, NORMALLY CLOSED, 9/32"
PRESSURE ORIFICE, 11/32" EXHAUST ORIFICE

TRANSMITTER, PRESSURE, 1.0% ACCURACY, 1/4 NPT-M, 4-20 mA, 1/2" NPT-M
W/ 36" LEADS, 0-750 PSIG RANGE

TRANSMITTER, PRESSURE, 1.0% ACCURACY, 1/4 NPT-M, 4-20 mA, 1/2" NPT-M
W/ 36" LEADS, 0-200 PSIG RANGE

MOTOR, THREE PHASE, C-FACE, TEFC, W/ BASE, .5 HP, 1140 RPM, NEMA 56C
FRAME, 230/480V AC USABLE AT 208V, TYPE 3418M 11.35 "C" DIMENSION, 1.2
FLA, 24 LBS, 72.0% FLE

MOTOR, THREE PHASE, C-FACE, TEFC, W/ BASE, 1 HP, 1760 RPM, NEMA 56TC
FRAME, 208-230/480V AC, TYPE 3426M, 12.00 "C" DIMENSION, 1.7 FLA 31LBS,
78.5% FLE

VALVE, PRESSURE REGULATING, 3/4” NPT FEMALE CONNECTIONS,
PHOSPHOR BRONZE DIAPHRAGM PTFE SEAT, 250 PSIG MAX INLET, 400F MAX,
51/8" OVERALL LENGTH

SEPARATOR, STEAM, 8", T STYLE, CARBON STEEL, 8" 900 ANSI RF FLANGES,
ASME CODE STAMP, RATED @ 615 PSIA 750F

TURBINE, STEAM, RLHA24, 612 PSIA 740F DESIGN 750F MAX INLET, 130
DESIGN 165 MAX PSIA EXHAUST, 60000 #/HR, 5477 RPM, 1590 KW RATED, 10"
300# RF RIGHT EXHAUST FACING STEAM END, CCW ROTATION FACING
STEAM END, 202 CONSTRUCTION, 6" 600# RF COMBINATION VALVE

CYLINDER, PNEUMATIC, MQ (SIDE TAP), 1 1/8" DIAMETER BORE, 1/2" STROKE,
1 EXTENSION STAGE, 2 RETRACTION STAGES

VALVE, RELIEF, CAST IRON, 3/4" NPTF, BUNA O-RING, HARDENED STEEL
PISTON, WS SPRING, 30-100 PSIG RANGE

VALVE, RELIEF, CAST IRON, 3/4" NPTF, BUNA O-RING, HARDENED STEEL
PISTON, WS SPRING, 30-100 PSIG RANGE

PUMP, GEAR, SIZE C100, LOW PRESSURE, .0085 GALLONS/REVOLUTION,
COUNTERCLOCKWISE, 7/8" STRAIGHT SHAFT 1/4"SQ X 1 3/4" KEY, SAE 2X4
BOLT 'B' FLANGE, 1 1/4" SAE 4-BOLT INLET, 3/4" SAE 4-BOLT OUTLET

PUMP, GEAR, SIZE C100, LOW PRESSURE, .0085 GALLONS/REVOLUTION,
COUNTERCLOCKWISE 7/8" STRAIGHT SHAFT 1/4"SQ X 1 3/4" KEY, SAE 2X4
BOLT 'B' FLANGE, 1 1/4" SAE 4-BOLT INLET, 3/4" SAE 4-BOLT OUTLET

ENCLOSURE, SINGLE DOOR, WALL MOUNT, 36" X 36" X 12", 14 GAUGE, GRAY,
3/8"-16 PANEL HARDWARE, STAINLESS STEEL DOOR CLAMPS, NEMA TYPE 12
& 13

PANEL, 33" X 33", 14 GAUGE, FOR "A" STYLE 36" X 36" BOX, WHITE

BOX, SCREW COVER, 12" X 10" X 5", 14 GAUGE, EXTERNAL MOUNTING FEET,
GRAY, 10-32 PANEL HARDWARE, NEMA TYPE 12 & 13

BOX, SCREW COVER, 12" X 10" X 5", 14 GAUGE, EXTERNAL MOUNTING FEET,
GRAY 10-32 PANEL HARDWARE, NEMA TYPE 12 & 13

PANEL, 10.75" X 8.88", 14 GAUGE, FOR "A” STYLE 12" X 10" BOX, WHITE

INDICATOR, SIGHT FLOW, MODEL 137P, 1" NPT FEMALE, PLAIN, BRASS, 125
PSIG MAX, 200F MAX, 4.375" END TO END

INDICATOR, SIGHT FLOW, MODEL 137P, 1" NPT FEMALE, PLAIN, BRASS, 125
PSIG MAX, 200F MAX, 4.375" END TO END

Oty

N NDNDN



Kerotest
Lindskog
Lovejoy
Lovejoy
Lufkin

Magnaloy

Magnaloy
Magnaloy
Magnaloy

Marathon

Marathon

Milwaukee Valve
Minco

Minco

Orange Research

SMC

SMC
Square D

Thermal Transfer

Thermocouple

Thermocouple

Tompkins
Tompkins
UNAFLEX

UNAFLEX

United Electric

United Electric

Valtek

" Valtek
Velan

00075614

06177-BAL

06177-CPG-HS
06177-CPG-LS

06177-GEAR

M056502B

M10002006
M10002808
M170U9

06177-GEN

MARATHON

49355K95
S$854PD120Z36

FG214

40945K81

NAW2000-N02G-
1C

AW20 N02G-CZ
9007C62ED

NEMA & UL TYPE 6P
AO-40-2

3957K261

3957K11

5406-24-20
5406-20-12
SS1FF04X5

SSTMMO1X12

E100-2BCB-1010

H100-701-1010

505Q

XLPP
S04-2074B-02TS

Bill of Materials for
University of South Carolina
VALVE, NEEDLE, 1/4", HARD SEAT, 800F, 10,000 PSIG, MALE X FEMALE,
STRAIGHT, ALLOY STEEL

COUPLING BALANCING, BALANCE COUPLING HUBS AND ASSEMBLY, USING
EXISTING ARBOR

COUPLING, DI 202-6 DISC w/ 7.31" Spacer

COUPLING, F4.0 GEAR

REDUCER, HELICAL GEAR, N1200C, 1700 KW @1.4 SF, 5477 RPM TO 1800

RPM, SPLIT SLEEVE BABBITT LINED BEARINGS HS & LS, 11 GPM OIL
REQUIREMENT @ 25 PSIG, 18.8 KW LOSS

MOUNT, PUMP/MOTOR, HORIZONTAL, 56C-184C MOTOR, SAE B PUMP, 5.00"
LENGTH

HUB, M100 COUPLING, 5/8" BORE X 3/16"SQ KEY

HUB, M100 COUPLING, 7/8" BORE X 1/4"SQ KEY

INSERT, M100 COUPLING, URETHANE

GENERATOR, SYNCHRONOUS, 743RDL4052, 1470 KW, 1837.5 KVA @ .8 PF,
105 OVER 40C TEMP RISE NAMEPLATE RATING, 480V, 3 PH, 1800 RPM, 60 HZ,

CLASS F INSULATION, 1600 KW, 2000 KVA @ .8 PF, 105 OVER 40C TEMP RISE
DESIGN RATING, 2 BEARINGS

EXTENDED WARRATY, 18 MONTHS FROM STARTUP OR 24 MONTHS FROM
EXTENDED SHIPMENT

VALVE, BALL, 1" NPT, MEDIUM PRESSURE, CARBON STEEL, LOCKABLE
PROBE, RTD, TIP SENSITIVE, 3/16" DIAMETER, 100 OHM PLATINUM, +/-.1% AT 0O
C, .00385 TCR

HOLDER, RTD, SPRING LOADED, TWIST KNOB, 3/16" PROBE DIAMETER, 1/2-14
NPT PROCESS THREAD, 1/2-14 NPT "CH" THREAD, O-RING SEAL, 300 SERIES

SWITCH, PRESSURE DIFFERENTIAL, W/ DIAL GAUGE, 3-15 PSID SETPOINT
RANGE, BRASS, 1/4" NPT FEMALE CONNECTIONS, 2% ACCURACY, 2%
REPEATABILITY, NEMA 4 ENCLOSURE, SPDT, 150F ABIENT MAX, 5000 PSIG

REGULATOR, W/ 5 MICRON FILTER, AIR, 0-30 PSIG RANGE

REGULATOR, W/ 5 MICRON FILTER, AIR, 0-160 PSIG RANGE

SWITCH, LIMIT, STANDARD BOX PLUG-IN, 2 N.O. & 2 N.C. CONTACTS, TOP
PUSH ROD PLUNGER ADJUSTABLE, SPRING RETURN, CLASS 9007, TYPE C,

COOLER, AIR TO OIL, SIZE 40, 2 PASS, 5450 CFM, 78 dBA @ 7 FT, 1/2 HP, 1140
RPM, NEMA 56C MOTOR MOUNT, 300 PSIG MAX, 400F MAX

THERMOWELL, STRAIGHT SHANK, .385" BORE DIAMETER, 3/4" NPT MALE, 4"
BORE DEPTH, 2 1/2" INSERTION LENGTH, 3/4" LAG LENGTH, BRASS, 1/2" NPT
FEMALE PORT

THERMOWELL, STRAIGHT SHANK, .260" BORE DIAMETER, 3/4" NPT MALE, 4"
BORE DEPTH, 2 1/2" INSERTION LENGTH, 3/4" LAG LENGTH, BRASS, 1/2" NPT
FEMALE PORT

ADAPTER, 1 1/2" NPTF MALE TO 1 1/4" NPTF FEMALE, STEEL, 1000 PSIG

ADAPTER, 1 1/4" NPTF MALE TO 3/4" NPTF FEMALE, STEEL, 1150 PSIG

HOSE, FLEXIBLE, 4" X 5" FF, STYLE SS-1, 321 STAINLESS HOSE, 304
STAINLESS OVERBRAID, CARBON STEEL 150# FLANGES BOTH ENDS, 5"

HOSE, FLEXIBLE, 1" X 12" FF, STYLE SS-1, 321 STAINLESS HOSE, 304

STAINLESS OVERBRAID, CARBON STEEL MALE NPT BOTH ENDS, 12"OVERALL
LENGTH

SWITCH, TEMPERATURE, SERIES 100, INTERNAL ADJUSTMENT W/
REFERENCE DIAL,30F TO 250F RANGE COPPER BULB AND CAPILLARY,
3/8"DIA X 2 716" BULB, DPDT, NEMA 4X ENCLOSURE

SWITCH, PRESSURE, SERIES 100, INTERNAL ADJUSTMENT 1.5 TO 30 PSIG
RANGE, BUNA-N DIAPHRAGM & O-RING, BRASS 1/4" NPT FEMALE PROCESS
CONNECTION, NEMA 4X ENCLOSURE, 500 PSIG MAX OVER PRESSURE

ACTUATOR, PNEUMATIC, 50 SQIN, SPRING TO EXTEND, 2" STROKE, 2.62"

SPUD DIAMETER, 1"-12 STEM THREAD, W/ YOKE CLAMP AND BOLTS

POSITIONER, PNEUMATIC, XL

VALVE, GLOBE, 3/4", THREADED, CLASS 800, VERTICAL, BOLTED BONNET,
WCB, 1/2 STELLITE SEAT

P A RS SR



Wika

Wika

Zinga

Zinga

3481K11

4071K101

ZAF-07-25-1

ZAE-10L

Bill of Materials for

University of South Carolina

GAUGE, PRESSURE, 2 1/2" DIAL SIZE, PHOSPHOR BRONZE PRESSURE TUBE,
BRASS 1/4' NPT MALE PROCESS CONNECTION, ACRYLIC LENS, GLYCERIN
FILLED, NIST TRACEABLE CERTIFICATE OF CALIBRATION

THERMOMETER, BIMETAL STEM, 3" DIAL, BOTTOM CONNECTION, SS T304, 1%
ACCURACY, 1/4" STEM DIAMETER, 1/2" NPT MALE CONNECTION, SILICONE
FILLED

FILTER, HOUSING, 150 PSIG MAX, 3/4' NPTF PORTS, 25 PSID BYPASS,
ALLUMINUM, W/ 10 MICRON ELEMENT ZAE-10L

FILTER, ELEMENT, SPIN ON, 10 MICRON, FOR HOUSING ZAF-07-25-1



/2190 NOg3 Z 4o | sbed 1002/2/)
€ dS'd0 asny sse|b Mojg MOJS VG asn} s G00 €lLE ze'Lz'ind
L i asny Inumeys 0cdalvY vind
sse|Biaql Mojg MO|S YOZ zelia
apolp uoissaiddng 0l i 109 | L HY¢ Jo} Jossaiddng suswals 009d}-9161 1Y€
juswisle-3y 4 dO 109 | L H¥¢E Joj Jossaiddng SsuswislS 00aD1-9L6L1HE 18)-|
VA0S ‘A0CL/08Y |l [Xog 'us9| |:p ‘Jouliojsuel] |ejusiod uliiniN 39 087-G9r VZIA
VA0S ‘A0CL/08Y [4 dd |y ‘Jawlojsuel) [ejusiod UliiinNl 99 08¥-G9v OL'VIIA
3|npouw JslylisA 2 dd Gz 9dIneQ 099 yumyosg | 68¢0-IN/88E0-IN 0114
abejjon yum‘Aejal ¥oayo "Youkg
[4 ds 'dD 'sod 0| ‘I Jeq punol Jajuso u1o8|q 0194904 a9
‘18 yua1no ejod L i UYolMS 189} /4 Sjod 0| "oul 02 €86¥S-0L1
a|gnop ¢ ‘[enuajod ajod ajbuis ¥ S92IASP JSJON
Buisnoy auo ul "yoe} g L 7 "MS paads pue "yoej aulgqin | xediy 0L-02¥./L Z'L1S
INd}N0 YWOoZ-i Z do Jajow Aouanbaypjion [eybiq | emebodoA | 1-0-AHY-22-267C SECEIN
usa10s yono | L dd 0001 shid mairjsued g-v Lavo0lLl-dliLC
XXOXH44S6YECHHHETM 18D L Jayeauiq }InaJiD 10ediase HOSMN 025
3 i 4Bl BjgelieA. Jamod |01U0D 349 agioe6d 1 1d
Jamod |0J3u0d JVYAOZ L 3 T Aejas uojjosjoud Jojessusn UliiinNl 39 | 02V-IH-Gd-6814S dod
L e DAA002-0 ‘1sjew [pued uosdwig 0-0-1-0%10-L-GEEHML WA
L & Joisisal Junys 5 0G-G-VHM.L bS]
L N DAAWQ0Z-0 ‘1elew |pued uosdwig 0-0-1-01 10~ L-GESHML NV
L T 1yb| |qejeAe Jamod 39 agdioed L1d
‘sod-g L B YOUMS B|qeus BUIZIUOIYOUAS | Youmsouo9|3 asozye 3S-MS
3 T {o3ms Jamod [043u0D 39 G6Y00dISI6d d0-MS
L dd 19|14 / Jossaiddns abing |onels| oLL-31 ns
[ ds ‘do X0q }8jino |ied uig l18qqnH 02dNdd [4g=0)<]
Z ds ‘do ainjxiy bl yeuigedlspun elquinjod MSMMOD INE
40CIHJELLLZSON
L i Aejai's % adoosolyouAs 37| uoydwold | O4-AADd-NTPL-L20 VvS2/SS
4 i A00Z VS Jayioal abpug | “ji3oal ‘ulsyuj V0ZdIN9C Z'Lyg
ONV 4 i DAAPT Aejpy a-v ¥2Z2007d-0000. L Ov6
ONV L dd JANVZ Aejey SNIN3IS ovadl-0vl LHYE 1 ¥dS
XGZ'ZS0 LSO XHHSL X1v6L 090
ONY¥Y L 7 " r 0NV L-0F | LHYE ¥0dO
ONZ ‘ONC 3 dO OVA0Z) Aejey SNIN3IS 0NV L-¢C | LHYE XV<ZS
G¢ | dS 'do SNy 7/ X/ | %90|q 8sh4 I3||NWIPISAA 000000%10} -N4d
UL %) A1 | uoneso uonduasaq Jainjoejnuep ‘ON Med 21N}e|2uUaWoN
euljoJe)

yjnos jo Alsiaaiun Joy
s|eule| J g [eol}o03|g

(




/2190 WOg3 Z 10 g ebed 1002/2/L
L i uopnqysnd 3 ONNdJO6d 1s0-ad
159] paadsIano [ealueyosn
L " uopnqysnd dojs Aousbiswz i LN 1306d 1S3-9d
L 2 yoyms Jomod |ou0D i G6Y00d0SD6d dO-MS
SJIUM L i 141l B|qe|ieA. Jemod i ag106d L1d
Jojsisal sapnjou| ¢ " b1l BuiZIUOJYOUAS SHYAA 19 MSD80.9991 10 A
Z i a-v adSye-02Lvdo
B " yopms jauiey3 "pul Jod g wepy 0259
‘POW "WOD 2AB|S/IB)SEN ] i SNQPON JJosold INDIN-69 L AN
ze2-SY L " "pow ul-[e1p $s800e sjoway N 1IMavy-00£6
e . a|npowl }ndui bojeue 'yo g ; 841-69/1 ZIV' LIV
DAAYZOVZ ‘0ANSOVYY L " Alddns jemod DVA0¥2/02 1 i PVd-69.1 071d-Sd
@ . a|npow jndui buisinosy 7 910I-69.1 zlaa ‘viaa
Bunjuis DaApe Julod 9|
& i 8|npow Indino Aejas pajejosi " ISMO-69/1 z0oaa ‘Loaa
[enpiAipul DAA/OVA Julod g
L i Jojeuiwieyded pus ybry i ¥03-69/1
| " g|npow jndino bojeue "yo g . 0840-69/1) LOV
) dd x160| yoedwo) a-v 32€71-69/ 1
HdE 'V¥'€ ‘A0EC 'dHO') L pS Jojow duwind jio &gn| "Xny " 9¥SEND LN
HdE ‘'V¥'Z 'NOEC 'dHG'0 L pIYS Jojow uey buyjood |Io egn- , BESEND PrrIN
HdE 'VZ'v ‘AOEC 'dHO' | L " " A y3-LoiLrsLal L-adA
HdE 'VE'Z 'AOEZ 'dHG 0 L ds anup Aousnbaly sjqeuep lopleg ¥3-054LrsLal yri-d-4A
L " asn} sse|b Mojq MOJS YWQ0Z ; zeLe ozZn4
Z i asnj sse|b mojq MOJS YWIG/E . G/EELE 8L/Lnd
L : asnj ssejb mojq MO|S VG'Z h G200 €LE vind
Z i asnj sselb mojq MOJS Vg " 200 €LE oL'6n4d
L . asnj sse|b mo|q MoJS YWQOSZ o GZeLe /N4
4 i asny sse|b Mo|q MOJS YWO0G i gelLe 9L'sL ‘g'ond
L i Aejap awill ‘A009 'VOL m 0L-¥a™ B
L b 8sh} OIWEI80 MO|] MOIS YO . 0L0 92Z¢ N
¥ i asnj sselb mojg MOIS V| i L00 €L€ glL'zl'lL'end
Z dD asnj sselb mojq MO|S V¢ * €00 €le ¢1'zn4
sjusawIwion A | uoneson =o=a_._ommn_. Jainjoejnuep "ON Hed 281NBJIUSWON
euljole)

yinog Jo Aysianiun 1oy
S|eusjey jo g |eau]os|d

\




